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1U12 2*6*3*2*3*3*2

Ul2 2+6*3*2%3*3*2  CD2=0.2173
X1 [ x2 [ x3 | x4 [ x5 ] x6 [ x7
1 1 3 3 1 1 2 | A2
2 1 2 1 1 3 2 | Al
3 1 5 3 2 2 1 | A1
4 1 4 2 1 3 1 | A1
5 1 5 3 1 2 3 | A2
6 1 6 2 1 2 3 | A2
7 2 4 2 2 1 1 | A1
8 2 6 3 2 3 2 | A2
9 2 1 1 1 2 1 | A2
10 2 1 2 2 1 3 | A1
1 2 3 1 2 3 2 | Al
12 2 2 1 2 1 3 | A2
2
X1 | x2 | x3[ x4 x5 x6[ x7[ vy1] vy2] v3
1 [24.30] 0.6 | 95 | 60 | 250 | 1.0 | 0 |30.12] 110 | 24.30
2 [24.30] 0.4 20 | 60 | 750 | 1.0 | 1 | 2262 107 | 24.32
3 |24.30] 1.0 95 | 120 | 500 | © 1 |1489] 114 | 2430
4 |24.30] 0.8 55 | 60 | 750 | © 1 |69.12] 111 | 2428
5 [24.30] 1.0 95 | 60 | 500 | 2.0 | 0 |107.1| 115 | 24.29
6 |24.30] 1.2 | 55 | 60 | 500 | 2.0 | 0 | 7219 111 | 24.26
7 |24.33] 0.8 ] 55 | 120 | 250 | 0 1 |2098] 101 | 2431
8 |24.33] 1.2 | 95 | 120 | 750 | 1.0 | 0 | 1039| 112 | 24.28
9 |24.33] 0.2 20 | 60 | 500 | O 0 |1610| 102 | 24.33
10 [24.33] 0.2 | 55 | 120 | 250 | 2.0 | 1 | 16.48] 102 | 24.33
11 [24.33] 0.6 | 95 | 120 | 750 | 1.0 | 1 | 47.19] 108 | 24.30
12 [24.33] 0.4 | 95 | 120 | 250 | 2.0 | 0 | 19.20] 100 | 24.33
3
Y X1 (X2)
(X3) (X4) (X5) (X6) X7
Y1 (Y2) (Y3)




F p
Y1=10.2633216 C 10.2633216 0.414
-0.0198068 * X1X3 0.538
+1.3522462 * X2X3 X1X3 -0.0198068 2.496
+27.2364989 * X2A1 0.153
X2X3 1.3522462 28.629
0.001
X2A1 27.2364989 3.216
0.111
R"2 =0.8573 s$=19.3563
F p
SR 18009.7873 3 6003.2624 16.0230  0.000960
SE  2997.3281 8 374.6660
ST 21007.1154 11
F=16.02 Fo0(3,8)=7.59
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F p
Y 2 = 6986.0438340 C 6986.0438340 306.529
-283.0401861 * X1 0.000
+0.0002032 * X3X5 X1 - 283.0401861 297.539 0.000
-0.0214578 * X3X6 X3X5 0.0002032 250.395 0.000
-0.0075363 * X5A1 X3X6 -0.0214578 21.688 0.003
+1.8251714 * X6A1 X5A1 -0.0075363 40.469 0.001
X6A1 1.8251714 13.808 0.010
R"2 =0.9896 $=0.7318
F p
SR 305.0364 5 61.0073 113.9047  0.000007
SE 3.2136 6 0.5356
ST 308.2500 11
F=113.90 Fo01(5,6)=8.75
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F
Y 3 = 24.3494442 p
-0.0901293 * X2 C 24.3494442 18480170.757
+0.0004409 * X2X4 0.000
-0.0000003 * X4X5 X2 -0.0901293 74.946
0.000
X2X4 0.0004409 15.790
0.004
X4X5 -0.0000003 5.080
0.054
R"2 =0.9305 s$=0.0070
F p
SR 0.0052 3 0.0017 35.7062  0.000056
SE  0.0004 8 0.0000

ST 00056 11

F=35.70 Fooi(3,8)=7.59
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Y1 Y2 Y3 Y1 Y2 Y3
3U-19 | 61.46 113 24.29 61.07 114 24.30
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